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Answer two short qu€stions (2 marks) and
One broad question (10 Marks) from each Unit

UNIT—]

L. Answer any two of the fOUOWing : 2x2=4

(ai What do you mMean by aggregate
demand (AD) and 4ggregate supply (AS)?

(b) What is AD YVe? Illugtrate with a
suitable disgram-

(c) What is AS UV Illugirate with a
diagram.

Nl109g ( Turn Over )



(2

1

{

2. {a) How will you derive AD curve? What3 J
factors cause AD curve to shiftp 7+ I

Or

(b} Explain the derivation of AS curve? How
: IS it relateq to labour market

ilibriump 7+3’ﬁi
UNIe—11
8. Answer any pyg of the following : 2"2
(@) Define Inflation gang Inflation rate _\
() How do market conditions affect
Toney wage rgteo ‘
| {c)  Define unem
| ‘ Ployment, What are its
different typeqn :

| ;
(b) What role ‘ .
S eifectivcne“does CXpectationg play in

Macroeconomic
Cuss.
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S. Answer any two of the following - 2x2=4
(@) What is balance of Payments (BoP)? 1
(b) Distinguish between g closed economy
and an open economy,

fc) What is exchange rate? What are its

;’ types? '
i 6. (@) What are the sources of demand for and
supply of foréign exchangesp Explain

‘ the determination of exchange rate. |
| (242)+6=10

Or
i (b) Discuss the mONetary approach to BoP. 10 |
f UNIT—IV ,i'
3 7. Answer any two of the f°n°ﬁng : 2x2=4

| (a) What do yoU ™€an by ¢ctive’ and
‘passive’ monetary policiesp "

- .l 4

(b) Distinguish P*™Ween  ryjes and
discretion in the Context of monetary

policy. |

() What are the msmlmf'-‘nts of monetary '
policy? !
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8. fa) What are the

objectives of monetary ﬁ
policy? Discugg

-

Or

(b), :Distinguisp between monetary - policy
e ""bpjectives and intermediate  targets
- G a centry g target  both
- njoney UPPly and interest rate

simultaneously? Discuss, S
UNrr—v
9. Answer any two of the fouoﬁng : >3
@ What is figey Policy and what are its
Componentg
(6} What do

(c) .What Is gove

10. (@)

() - What jg

Vernment budget? lain its
Herent “Mponents, B 3+77!
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